ANALYSIS AND INTERPRETATION CASE STUDIES
CASE STUDY 1

As internal auditor of AB, a limited liability company, you are conducting an investigation of the company’s trading results. Your directors believe a further issue of debentures is needed to fund both the repayment of the 10% loan due for repayment in 20X9 and for investment in new plant and machinery. The industry in which AB operates is, and is likely to remain, highly competitive.

Note: ‘Now’ is November 20X8

The following financial information has been provided:

Statement of Financial Position as at 31 December 
	
	20X7
	20X6
	20X5
	20X4
	20X3

	Assets 
Non Current Assets

Land and Buildings
	3.0
	2.5
	2.4
	1.6
	1.5

	Plant and machinery
	3.2
	2.0
	1.2
	0.8
	0.6

	
	6.2
	4.5
	3.6
	2.4
	2.1

	Current Assets
Inventories
	5.0
	4.7
	3.0
	2.4
	1.9

	Receivables
	2.6
	2.0
	1.9
	1.5
	1.4

	Total Assets
	13.8
	11.2
	8.5
	6.3
	5.4

	
	
	
	
	
	

	Equity and Liabilities

Equity

$1 equity shares fully paid
	1.5
	1.5
	1.5
	1.5
	1.0

	Retained Earnings
	4.5
	2.2
	2.0
	1.1
	0.9

	
	6.0
	3.7
	3.5
	2.6
	1.9

	Current liabilities*
	4.3
	4.0
	3.5
	2.2
	2.0

	Non current liabilities

10% loan stock 20X9
	1.5
	1.5
	1.5
	1.5
	1.5

	12% loan stock 20Y5
	2.0
	2.0
	-
	-
	 -  

	Total Equity and Liabilities
	13.8
	11.2
	8.5
	6.3
	5.4

	
	
	
	
	
	

	*Bank overdraft
	1.9
	1.3
	0.6
	0.8
	0.9


Extracts from Income Statement
	Net Sales
	16.4
	13.5
	10.0
	8.5
	7.3

	Cost of Sales
	8.9
	7.1
	6.1
	5.5
	4.8

	Profit before tax
	3.0
	1.5
	1.4
	0.8
	0.5


Some average statistics for the industry as a whole in 20X7 are given as follows:

Net profit before tax/sales



14%

Net profit before tax/total assets less current liabilities
18%

Working capital (current) ratio



2.2
Liquidity ratio





0.75
Sales/non current assets



3.0

Turnover of inventory




2.8

Receivables collection period



45 days

Age of inventory




120 days
Selected ratios for AB based on the above tables
	
	20X7
	20X4

	Net profit before tax/sales
	18.3%
	9.4%

	Net profit before tax/total assets less current liabilities
	31.6%
	19.5%

	Working capital ratio
	1.77
	1.77

	Liquidity ratio
	0.60
	0.68

	Sales/non current assets
	2.65
	3.54

	Inventory turnover (COS/inventory ratio)
	1.78
	2.29

	Receivables collection period
	51 days
	62 days

	Age of inventory
	199 days
	143 days

	Gearing ratio
	90%
	89%

	Gross profit margin
	46%
	35%


CASE STUDY 2
Greenwood is a public listed company. During the year ended 31 March 20X7 the directors decided to cease operations of one of its activities and put the assets of the operation up for sale (the discontinued activity had no associated liabilities). The directors have been advised that the cessation qualifies as a discontinued operation and has been accounted for accordingly.
Extracts from Greenwood’s financial statements are set out as below.

The income statement figures down to the profit for the period from continuing operations are those of the continuing operations only.

Income Statements for the year ended 31 March

	
	20X7 

($’000)
	20X6 

($’000)

	Revenue
	27,500
	21,200

	Cost of Sales
	(19,500)
	(15,000)

	Gross Profit
	8,000
	6,200

	Operating Expenses
	(2,900)
	(2,450)

	
	5,100
	3,750

	Finance costs
	(600)
	(250)

	Profit before taxation
	4,500
	3,500

	Income tax expense
	(1,000)
	(800)

	Profit for period from continuing operations
	3,500
	2,700

	Profit/(loss) from discontinued operations
	(1,500)
	320

	Profit for the year
	2,000
	3,020

	
	
	

	Analysis of discontinued operations:
	
	

	Revenue
	7,500
	9,000

	Cost of sales
	(8,500)
	(8,000)

	Gross profit/(loss)
	(1,000)
	1,000

	Operating expenses
	(400)
	(550)

	Profit/(loss) before tax
	(1400)
	450

	Tax (expense)/relief
	300
	(130)

	
	(1,100)
	320

	Loss on measurement to fair value of disposal group
	(500)
	

	Tax relief on disposal group
	100
	

	Profit/(loss) from discontinued operations
	(1,500)
	320


Statements of Financial Position as at 31 March
	
	
	20X7

$’000
	
	20X6

$’000

	Non current assets
	
	17,500
	
	17,600

	Current assets
	
	
	
	

	Inventory
	1,500
	
	1,350
	

	Trade receivables
	2,000
	
	2,300
	

	Bank
	nil
	
	50
	

	Assets held for sale (fair value)
	6,000
	9,500
	nil
	3,700

	Total assets
	
	27,000
	
	21,300

	
	
	
	
	

	Equity and liabilities
	
	
	
	

	Equity shares of $1 each
	
	10,000
	
	10,000

	Retained earnings
	
	4,500
	
	2,500

	
	
	14,500
	
	12,500

	Non current liabilities
	
	
	
	

	5% loan notes
	
	8,000
	
	5,000

	Current liabilities
	
	
	
	

	Bank overdraft
	1,150
	
	nil
	

	Trade payables
	2,400
	
	2,800
	

	Current tax payable
	950
	4,500
	1,000
	3,800

	Total equity and liabilities
	
	27,000
	
	21,300


Note: the carrying amount of the assets of the discontinued operation at 31 March 20X6 was $6.3 million

Selected ratios for Greenwood based on the above tables
	
	20X7
	20X6

	ROCE – continuing operations
	29.7%
	33.5%

	Gross profit – continuing operations
	29.1%
	29.2%

	Net profit before tax %
	16.4%
	16.5%

	Net profit before interest and tax %
	17.8%
	17.7%

	Asset turnover
	1.67
	1.89

	Current ratio- including assets held for resale
	2.11
	

	Current ratio- excluding assets held for resale
	0.77
	0.97

	Quick ratio - including assets held for resale
	1.77
	

	Quick ratio - excluding assets held for resale
	0.44
	0.62

	Inventory days held
	28
	33

	Receivables days
	26.5
	39.6

	Payables days
	50
	68

	Gearing
	35.5%
	28.6%


